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Behandling af Data: 
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Vurdering af Data/Diskussion.

1) Hvad foregår der i fotosyntesen
2) Hvorfor er det vigtigt at der er bagepulver i vandet til forsøget 
3) Hvorfor skal bladstykkerne klippes ud i runde stykker som er ens?
4) Hvad er formålet med det trin hvor bladstykkerne kommer i en engangssprøjte? 
5) Hvorfor tilsætte en dråbe sæbe til vandet i forsøgsglasset?
6) Hvorfor stiger bladstykkerne op til toppen af vandt?
7) Hvor hurtigt foregår fotosyntesen. (Beregnet ud fra jeres kurve og ET 50 Værdien – se tekst ovenfor) 
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Determine the median time from your data. The median time is the time it takes for 50% of the disks to float. This time is also called
the Effective Time (ETso). Since you used 10 disks in each cup, you need to determine the time at which 5 disks floated in your
experiment. You can extrapolate the ETso from your graph as shown in Figure 3 in the Introduction. Note: Occasionally a disk fails to
fise or takes a very long time to do 50, so the median reflects the tendency of the leaf disk assay results better than the mean
(average) does as it is more robust against outliers. The resource Stuck in the Middie-Mean vs. Median explains the difference
between these two values.

Calculate the average of all three ETs values. Then use this average ETs value to calculate the rate of photosynthesis for the
conditions of your leaf disk assay. To do that, take the reciprocal of your average ETso value, which means to calculate 1/ ETso. The
unit of your photosynthesis rate will be 1/min or min™".




